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 𝒂 > 𝟏

 (𝟎, 𝟏)

 𝒙

𝒇(𝒙) = 𝟐𝒙

𝒙 𝒚 = 𝒇(𝒙) = 𝟐𝒙 (𝒙, 𝒚)
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2
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4
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𝟏𝟔 (−𝟒,
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)

−3 𝑓(−3) = 2−3 = (
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2
)

3

=
𝟏
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𝒇(𝒙) = 𝒂𝒙 𝒂 ∈ ℝ+ − {𝟏} 𝑥 ∈ ℝ

 𝑓(𝑥) = 4𝑥 𝑓(2) = 42 = 16.

 𝑓(𝑥) = (
1

2
)

𝑥

𝑓(−1) = (
1

2
)

−1

= 2.

 𝑓(0) = 𝑎0 = 1

 𝑓(1) = 𝑎1 = 𝑎

𝑓(𝑥) = 1𝑥

𝑥

𝒇(𝒙) = 𝒂𝒙 𝒂 > 𝟎

 𝑥 > 0 𝒂

 𝑥 < 0 𝒂
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𝒇(𝒙) = (
𝟑

𝟐
)

𝒙

 −2 𝑓(−2) = 2−2 = (
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0 𝑓(0) = 20 = 𝟏 (𝟎, 𝟏)

1 𝑓(1) = 21 = 𝟐 (𝟏, 𝟐)

2 𝑓(2) = 22 = 𝟒 (𝟐, 𝟒)

3 𝑓(3) = 23 = 𝟖 (𝟑, 𝟖)

4 𝑓(4) = 24 = 𝟏𝟔 (𝟒, 𝟏𝟔)

5 𝑓(5) = 25 = 𝟑𝟐 (𝟓, 𝟑𝟐)

𝒙 𝒚 = 𝒇(𝒙) = (
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𝒙

(𝒙, 𝒚)
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)
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=
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0 𝑓(0) = (
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0
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 𝟎 < 𝒂 < 𝟏

 (𝟎, 𝟏)

 𝒙

𝒇(𝒙) = (
𝟏

𝟐
)

𝒙

𝒙 𝒚 = 𝒇(𝒙) = (
𝟏

𝟐
)

𝒙

(𝒙, 𝒚)

−5 𝑓(−5) = (
1

2
)

−5

= 25 = 𝟑𝟐 (−𝟓, 𝟑𝟐)

−4 𝑓(−4) = (
1
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)

−4

= 24 = 𝟏𝟔 (−𝟒, 𝟏𝟔)

−3 𝑓(−3) = (
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−3

= 23 = 𝟖 (−𝟑, 𝟖)

 −2 𝑓(−2) = (
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𝒇(𝒙) = (
𝟑

𝟓
)

𝒙

𝒙 𝒚 = 𝒇(𝒙) = (
𝟑

𝟓
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𝒙

(𝒙, 𝒚)
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 𝒇(𝒙) = 𝟒𝒙

 𝒈(𝒙) = 𝟓𝒙

 𝒉(𝒙) = (
𝟒

𝟑
)

𝒙

 𝒎(𝒙) = (
𝟏

𝟒
)

𝒙

 𝒏(𝒙) = (
𝟑

𝟒
)

𝒙

 𝒑(𝒙) = (𝟎, 𝟒)𝒙

Para complementar: Escanea los códigos QR desde tu 

dispositivo móvil o haz click en el link respectivo. 

 

https://www.youtube.com/watch?v=GDxpxq2Jg3E
https://www.youtube.com/watch?v=lzVT2aHnrpQ

